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SYDNEY BOYS HIGH SCHOOL

MOORE PARK, SURRY HILLS

Year 8

Yearly Examination 2008

- Mathematics

General Instructions

°

.

‘Working time — 90 minutes

Write using black or blue pen.

Approved calculators may be used.

All necessary working MUST be

shown in every question if full marks are to be
awarded.

Marks may not be awarded for untidy or badly
arranged work,

If more space is required, clearly write the
number of the QUESTION on one of the back
pages and answer it there. Indicate that you
have done so. .

Clearly indicate your class by placing an X,
next to your class

Unless otherwise stated, all answers should be
given in simplest form.

Class Teacher

8 A Ms Ward

81 Ms Evans

8B Mt Boros

82 Mr Choy

RC Ms Roessler

83 Mr McQuillan
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Examiner: 4. M. Gainford

Question Mark
A 7
B A7
C /18
D /18
B /18
15 120
Total /108

‘Section A (17 Marks)

Sefﬁiﬂﬂ Question Answer
1 Find 18% of $24
1 mark
2 Solve forx: S5x-8=7
1 mark
3 | Simplify 64° +24°
1 mark
4 How many centimetres are there in 24.65 m?
1 mark
5 | Bill, Bob and Yunjai divide $48 in ratio 5:4:3 respectively.
How much does Bob receive?
1 mark
6 Calculate, correct to 2 decimal places
N216
8-31-5.624
1 mark
7 Expand -2(3x-3)
1 mark
8 | Express as £ arecurring decimal.
1 mark
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Section
A
9 For every 20 fish caught by a trawler, it is found that on
average 4.are undersized. How many undersized fish could
be expected in a catch of 230?
1 mark
10 | List all the subsets of {x, y, z}.
2 marks
11 . 1 7 -
© | Express as a simple fraction 2 X IE
1 mark
12 | What rational number lies midway between 11 and 12 ?
1 mark
13 | Arrange in ascending order:
B3 g0
2 4
1 mark
14 iy (3x2)3
Simpli
P 9x*
1 mark
15 | A rectangle is has one side x m and area 2x’m?. Find its
perimeter.
1 mark
16 | Expand and simplify 2x—1)(x—4)
| 1mark
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Secﬁon B (17 marks)

Section
B

Question

Answer

17

1 mark

State the supplement of an angle 47°.

18

1 mark

A TV costing $240 wholesale is marked up 40%, and then
offered for sale at 20% discount.
What was the selling price?

19

1 mark

10m
Find the area of this figure.

20

2 marks

Name a pair of congruent triangles and state which test you
have used.

4 E
s 500
70° 60° 70°

B 12m Cc D 12m F

21

2 marks

In class 8F of 30 boys, everyone reads at least one morning
paper, either the Herald or the Tele. If 19 read the Herald,
and 8 read both papers, how many read the Tele?
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Section
B

Questions

Answer

22

2 marks

Simplify 3/8x*

23

2 marks

Simplify %(4)5 - 8)—%(6x -9)

24

2 marks

: 13 cm

12 cm

The above shape is a right-angled triangle. Calculate its
perimeter.

25

2 marks

The hour and minute hands of a clock form a rightangle.
How long will it be before they form a rightangle again?
Give your answer to the nearest second.

26

2 marks

Solve for x,

3x-10
5

1

Section C (18 marks)

Section
C

Question

Answer

27

2 marks

If two standard dice are rolled, state the probability that the
outcome includes at least one six. )

28

2 marks

State which of the lines below pass through the point
(-1, 5)?

(A) y=4x-1 (B) x-y+6=0 (C) 5x+2y=-5
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Section
C
29
) The diagram below shows a triangular prism, in which
AC=26 cm, BC=24cm
A4
D
B C
(i)  Find the length of AB
(iiy  If the volume of the triangular prism is 2520 cm?,
find the length of CD.
2 marks
30 |Solve forx:
5x+10 i’
2x+30
(Angles are measured in degrees)
2 marks
31 | By first completing the table below, sketch the graph of the
equation y=—x>+3. V1
x -2 -1 0 1 2
y
4 marks
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Section
C
Draw a bar graph (5 cm long) to represent the following
32 |data. ‘
Griffith Grape Production
White Wine 35%; Red Wine 40%; Brandy 25%
3 marks
33 | A team of stevedores loads 1152 containers in six shifts of
8 hours. What is their rate of loading in containers per
hour?
3 marks

Section D (18 marks)

SCCI;iOH Question Answer
34
A B
E D c
ABCD is a parallelogram. Name two angles equal to
£BCD
2 marks
35 | Graph the line 2xx— 3y =6 on the number plane y
3 marks
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Section

5 marks

18 14 17 16 16
15 16 15 15 14
17 15 14 15 16

Complete the frequency distribution table at right.

- Question Answer
36 2004 A bus left the depot at 9 am for a one
1 day tour.
160: (i) State how long the bus was stopped
distance 120 for the first time.
(km) 1
80 (iiy How long did the bus take for the
T return journey?
40+
O Attt
9am 10am 1lam noon lpm 2pm 3pm (iii) What was the average speed for the
time outward journey?
3marks
37 | The scores in a class test are shown below:

Score Frequency Jx
€3] 0

‘Zf:

38

n

5 marks

Using the table in question 37 above. Calculate the:
(i) range

(ii) mode

(iii) median

(iv) mean
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Section E (18 marks)

Section
E

Question

Answer

-39

4 marks

Using only a sharp pencil, a ruler and a pair of
compasses, construct the triangle ABC, where
ZBAC =30 and AC = AB. (Do not erase any
construction lines.) -

A

40

IA set of traffic lights shows red for 45 seconds, green for 30
seconds, and amber for 5 seconds. At any instant, what is
the probability that the lights show green?

2 marks
41 | Expand and simplify 2x(3x-2)-3(x+4).
2 marks
42 | Solve for x: )
1.1 1
—t— =]
3 4 x
2 marks‘
43 | In each case find a common factor:
® 6ab—2a ®
(i)  2x*+4x (i)
4 marks
44 | An operation ® is defined by a®b =2a+3b.
Findx if 5®x=22,
2 marks
45 | Prashan has an average of 62 for three cricket innings.
6)) ‘What is the sum of the three scores?
(ify ~ What must he score in the fourth innings to make his
average 657
2 marks
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Section F (17 marks)

Section
¥

Question

Answer

46

2 marks

I'spend 1 of my annual bonus on a new TV, and 2 of the

remainder on Christmas presents. If T have $630 left, what
amount did I start with?

47

3 marks

ABCD is an isosceles trapezium ( AB|| DC, AD = BC,
ZDAB=/CBA4). :

A4 » B

D C

Prove A ADC =A BCD

48

4 marks

Complete the table of addition modulo 5.

[=

[

& W R = | +

al W

o & w P —=| =~

49

4 marks

Using the table in Question 48, or otherwise:

(i) Evaluate 3+4 (mod 5)

(if) State the opposite of 3 (inod 5).

(iii) Solve 3x+4= 1(mod5)
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iy

Section

Question

Aunswer

50

3 marks | length of the lower path.

AE is divided into four equal parts and semicircles are
drawn on AC, CE, AD, and DE, creating two paths from A4
to E. Find the ratio of the length of the upper path to the

51

4 marks

In the figure, all angles are rightangles, the long sides are
both 4 cm, and the short sides all 2 cm.

Show how the figure may be cut into four congruent piece‘s.

END OF PAPER
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Section A (i7 Marks)
Section Question Answer
1 Find 18% of $24
% le. B2
1 mark
2 Solve for x: 5x—8=7. 5o = s
w =5
1 mark
3 | Simplify 64° +24* ' y
del
!
1 mark
4 How many centimetres are there in 24.65 m? Q 4 o
1 mark .
5 | Bill, Bob and Yunjai divide $48 in ratio 5:4:3 respectively.
How much does Bob receive? $ / Q
1 mark
6 Calculate, correct to 2 de_cimal places A
_vals 5o 4+
8.31-5.624
1 mark
7 | Expand ~2(3x-3) —0( 5+ (p or
6 —G
1 mark
8 | Bxpressas %\Va recurting decimal, .
CPRTRIA
- Tmark
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Section
A
9 | For every 20 fish caught by a trawler, it is found that on n .
average 4 are undersized. How many undersized fish could = YR30 = L (D
be expected in a catch of 2307
1 mark . ’ -
10 | List all the subsets of L 7} k) |
R (49 23,8, 0 (91, (1).
{y]) 0], {2
2 marks ’
11
Express as a simple fraction 1 X 1z L % -'—? = A5
28 a7y (e
1 mark )
12 | What rational number les midway between 11 and 127 ( b, " i—) 3
Rl
T
1 mark . #
13 | Arrange in ascending order: J,_
D,
o3 0. 105, Fa, 7-:{)— -y
—, =, 0705, 72%
2 4 . .
OyHE
1 mark )
14 ( 2V . [
') aF a
Simpli X
{mplify " --—,-..:I 5 > e
9
1 mark -
15 A rectangle@one side x m and area 2x’m’, Find its | :
perimeter. ’ O . - :
O Hrs- sdele 15 A0 ’ 6 w
1 mark
16 | Expand and simplify (2x—1)(x~4)
A R o &>Ll—‘ﬂ>u +
1 mark
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Section B-(17 marks)

Section Question Answer
B
17 | State the supplement of 47°,
(33°
1 mark )
18 | A TV costing $240 wholesale is marked yup 40%, and then
offered for sale at 20% discount.
What was the selling price?
1 mark
19
9m 12m
n
l { o<
10m -
Find the area of this quadrilateral.
1 mark
20 |Name a pair of congruent triangles and state which test you :
have used. &A (R= A EOF . QMS’)
4
70° 60°
B 12m
2 marks
21 |In class 8F of 30 bays, everyone reads at least one morning )
- | paper, either the Herald or the Tele. If 19 read the Herald, :
ang B read both papers, how many read the Tele? - l q
2 marks
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Section
B

Questions

" Answer

22

2-marks

Simplify ¥8x”

23

2 marks

Simplify %(4;: —8)—%(6x -9) = Ly Ut

24

2 marks

: 13 cm

12 cm

The above shape is a right-angled triangle. Calculate its
perimeter.

%O [G7ON

25

2 marks

The hour and minute hands of a clock form a rightangle.
How long will it be before they form a nghtangle agam?
Give your answer to the nearest second.

Tgp«oo © AR -
@ 330, Hog i

Sszv\ (‘}‘L('-W-'So

Ko 2
71051,61 7, 5,7

26

2 marks

Solve for x, i
5;(_—! 0 S

N
'p(,g

Z=35.

Section C (18 marks)

Section
C

Question

Answer

.27

2 marks

If two standard dice are rolled, state the probability that-the
outcome includes at Jeast one six.

28

2 marks

State which of the lines below pass through the point
(-1,5)?

(&) y=4x-1 (B) x~p+6=0 (C) 5x+2y=-5
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Section

Quest_ions

Answer

22

2 marks

Simplify 38z

23

2 marks

Simplify %(4);—8)—%(& -9)

24

2 maris

13 cm

12 cm

The above shape isa r1ght-£mgled trlangle Caleulate its
perimeter.

25

2 marks .

The hour and minute hands of a clock form a rightangle.
How long will it be before they form a rightangle again?
Give your answer to the nearest second.

26

2 marks

Solve for x,

3x—10=1
5 : .

Section C (18 marks)

Secéiﬂn Question - b Answer
27 | Iftwo standard dice are rolled, state the probability that the
outcome includes at least one six, /
121 z) 4l o« fef /
122 g2 42 €2 6% —
EREE 4
16 3¢ 4c vrlec
<!§ 2L 36 46 56|66
2 marks ’ 4
28 | State which of the lines below pass through the point
-1, 5)?
(A) y=4x-1 (B) x-y+6=0 (C) S5x+2y=-5 E
(6= 401 (-1)-(s)+6=0 S(-1)2(8)=-5
X v el
2 marks R
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Section
C
29
The diagram below shows a triangular prism, in which = A8 i -;_q.l
AC =26 cm, BC=24cm
...... A@ - '26 '2’(&
A4 Pr@ ={bo
AR =10 e
D
B C Lyetox2lx €D
V= o2
()  Find the length of AB 2¢20 = 120<CD
oD = 2 l enn
(i)  Ifthe volume of the triangular prism is 2520 cm®,
find the length of CD.
2 marks . 4
3 Solve for x:
0 olve for x / ‘ QM+30+S’(+10=(QD
5x+10 I+ kO =8O
2x+30 , T = A& 9
/ >— 2 =20
(Angles are measured in degrees)
2 marks
31 | By first completmg the table below, sketch the graph of the
equa‘uon y=—xt43. : . 37
2
2 -1 0 1 2 N
g | 2 2 -~ - [T [\]e
X
[ wl
/ \
v v
4 marks
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Section
C
Draw a bar graph (5 cm long) to represent the following
32 | data.
Griffith Grape Production | F7Sum Zern 250
‘White Wine 35%; Red Wine 40%; Brandy 25% whike Rech K(M\AJ
Wie | Wine
3 marks
33 | A-team of stevedores loads 1152 containers in six shifts of 142 contarners per B Wows
8 hours. What is their rate of loading in containers per 24 esinars ot
hour? : co £
o,
3 marks

Section D (18 marks)

|

Se%ion Question Answer
34
A B
E D C
ABCD is a parallelogram. Name twp angles equal to
£BCD
2 marks !
35 Graph the line 2x — 3y =6 on the ngmbar plane . V1
. ) « -
x
3 marks
SBHS Year 8 Yearly Exam 200# Page 7

N

FMFII‘ J ~
P .
I Draw a bar graph (5 cmrlong) to represent the following -
32 ta, b
Griffith*Grape Production
White Wine 35%; Red Wine 40%; Brandy 25%
33 | A Team of stevedores loads 115%ontainers in six shifts o
8 howrs~What is their rate of loadingjn containers per
hour? . :
3 marks /
g
Section D (18 marks) * \%
[ Sectlon ’ Question
D
34
4 < B
. ¥ ™ )
) AN O / .
E D C
ABCD is a parallslogram. Name,two angles equal to
£BCD
2 marks .
35 | Graph the line 2x — 3y =6 on the number plane V1
. i g
L1013
Talo g
qlXx
3 marks
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FC%‘O“ Question Answer
36 : L A bus left the depot at 9 am for a one
200:_ day tour,
1601 (#) State how long the bus was stopped | -
distance 120: m for the first time, 2 0 -
(am) i ) Mns (/
80+ (if) How long did the bus take for the
T return journey? \
a0+ j AO s @
0 i t————t—+—+—
Sam 10am 1Man) noon| 1pim|2pm 3 pm (iti) What was the average speed for the
time . outwmd Jjourney? /6(@ Z
: ' 14
3mnrks . 660 ° /2”7/ ?[‘ 5 7
37 | The scores in a class test are shown below:
“Score Frequency { -. .jx.
\1& \N\ @ e a () )
B 35 % 5 e K 4 5 | 4
Complete the frequency distribution table at right. / é e 4 64 {.D
17 2 9
L=1S ¢y 090)
1 S marks
38 | Using the table.in question 37 abovc Calculate the:
O rge (914 55
(i) mode | 5 A » @
(i) median g geores |/ 5 /5
0
. '
(iv) mean y,. = 9;}%, = ]6'56
15
*5 marks .
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Section E (18 marks)

Sec}?“" Question I Answer
39 | Using only a sharp pencil, a ruler and a p‘aﬂ. f/
compasses, construct the triangle ABC, wl ers
£BAC =30° and AC' = AB. (Do not erasg any
construction lines.) i
4 B
4 marks | '
40 |A set of traffic lights shows red for 45 seconds, green for 30 /
seconds, and amber for 5 seconds. At any instant, what is 0 \.
the probability that the lights show green? %/_ = Tf‘
10
2 marks
41 | EBxpand and simplify 2x(3x —2)—-3(x+4).
LY S
G =Wl 3L Gx iy
2 marks
42 | Solve for x; | -8
111 o4 +3 o~ T
—p =1 - s
3 4 x /”: * Jr-z_ = ’ i
A= ’S‘
2 marks ) *
43 | In each case find a common factor:
@)  6ab-2a 0 L
(i) 2%’ +4x @ Ax
4 marks .
44 | An operation ®is defined by a®b=2a+3b.
: Find xif 5@x=22. (0 = 3ate),
D x4
. Qe 1L
2 marks .
45 | Prashan has an average of 62 for three cricket innings,
(i)  What is the sum of the three scotes? | %6 ( <g é
(i) ~ What must he score in the fourth imnings to make his
average 657 7 L{/ 7 L(ﬁ
2 marks '
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Section F (17 marks)

Section
by

Question

Answer

amount did I start with?

2 marks

46 | Ispend 4 of riy annual bonus on a new TV, and 2 of the
remainder on Christmas presents, If I have $630 left, what

Goe. = 12100
~= 1400

362 o=
Hx 4 p3O= v
0

ZDAB=/CBA).

A b B

D c

3 marks

Prove A ADC'=A BCD

47 | ABCD is an isosceles parallelogiam ( AB|| DC, AD = BC@

@&

®

[4
LN

AD=RC, @Ner)‘_)
) DC COMMON .
L DAg+ LA = 80

- pec + LBeo= 150 ()
| Y LDA%:LA&; (81\1611)
L ADC S7_BCD.

ARDC = A BOD (SAS)

CDMW)
(5 nslic b
co\rv\*e(itcr‘\

4 marks |

48 | Complete the table of addition modulo 5. + 0 1 2 3
0 0 1 2
1 2 A
2218 |alo |y
4 4 0 1 Z|3
4 marks
49 | Using the table in Question 48, or otherwise:
() Evaluate 3+4 (mod 5) 2.
(i) State the opposite of 3 (mod 5). 2 .
(i) Sotve 3x-+4=1(mods) <=4 -
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Secrt‘ion Question Answer
50
< (QTF (2» x 2= 417
i (% (2ﬂ>Ll\\
> (211‘ (.’5> +{=z A
= AT
Rafro &
4T AT
AE is divided into four equal partsand semicircles are = \: \ ‘
drawn on AC, CE, AD, and DE, creating two paths from 4 - .
to E. Find the ratio of the length of the upper path to the -
3 marks | length of the lower path. : )
51 |In the figure, all angles are rightangles, the long sides are
" | both 4 cm, and the short sides all 2 cm.
Show how the figure may be cut into fout congruent pieces.
4 marks ’ )
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